Limiting Reagents and Percentage Yield Assignment 
1.Aluminum metal is refined from the ore of aluminum called bauxite. In the refining process aluminum oxide decomposes to aluminum and oxygen gas. 

a) Write the balanced chemical equation for the reaction.
(2 pts)

b) What mass of aluminum can be produced from 2.04 kg of aluminum oxide? (2 pts)

2. Sulfuric acid reacts with potassium hydroxide to produce potassium sulfate and water. 

a) Write the balanced chemical equation for the reaction. (2pts)
b) What mass of potassium sulfate can be produced from 294.6 g of potassium hydroxide? (3 pts)
3. Silver nitrate, AgNO3, reacts with ferric chloride, FeCl3, to give silver chloride, AgCl, and ferric nitrate, Fe(NO3)3. In a particular experiment, it was plannned to mix a solution containing 25.0 g of AgNO3 with another solution containing 45.0 grams of FeCl3.
a) Write the balanced chemical equation for the reaction.
(2 pts)
b) Which reactant is the limiting reactant?
(4 pts)
c) What is the maximum number of moles of AgCl that could be obtained? (2 pts)
 d) What is the maximum number of grams of AgCl that could be obtained? (2 pts)
 e) How many grams of the reactant in excess will remain after the reaction is over? (3 pts)
